PHYS 101

Ch. 4

Newton’s Laws of Motion
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AT
A car travels east at constant velocity. The net force on the
car 1s:

Mﬁ“ >
- (C) ﬁ%m\m&* Q%\o .

(A) greater than zero
(B) less than zero

€T zero

(D) 9.8N

.
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Example 2

p——

A 3 kg box 1s moving with a constant speed. The net force
on the box 1s:

Solution: Q\@NMQ\ %\mmn\
T D

(A) 245.1 N S

(B) 190.2 N

(C) 31.5N
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Example 3:
i

Two forces are applied to an object of mass 18.25 w.m. One
force is 27.5 N to the north and the other is 24.0 N to the

g

west. The magnitude of the acceleration of the object is:

Solution: / \\\I.H b%“& Al
OPV 5.0 E\mN m| 4 :Uw ﬁv& = \\oﬂ.\\, O\Q\
(B) 4.0 m/s’ m=18-25 Iy

2 &
Anv > E\m = ||M|m| — h +N—)‘\~ = .M\b “\\.J.\\«NN;W;L
/18-25
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Example 4:

Three forces act on a particle in which it moves with
constant speed, 1f N = (—=81)N and WNV = (—10))N. Then
MV 1S:

P

»* ﬁcsmﬁ%* %\wmmh\ ol ae —
Solution: St = -
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Example 6:
—_

A man of mass 50 kg. His weight is:
Solution:
e
) 490 N
(B) 98 N
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(C) 50N
(D) zero
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